liGo CALIFORNIA INSTITUTE OF TECHNOLOGY DRWG NO. REV
MASSACHUSETTS INSTITUTE OF TECHNOLOGY E1100546 V2
ASSEMBLY NO:
OVERALL BILL OF MATERIALS D1000549
TITLE:
BOM-aLIGO UPPER INTERMEDIATE MASS TOP ASSEMBLY
APPROVALS: DATE. REV |DCN NO. BY CHECK DCC DATE
DRAWN / AUTHOR:
CIT, JT 12-Apr-12| v2  |E1101214 T
(REFERENCE CONTENTS)
CHECKED:
APPROVED:
DCC RELEASE
mem| 01| 01 [ -01 [-02] 02 | 02
DESCRIPTION
No |aTv|spare|toTaL |oty|spare|ToTal| PART NUMBER REV SCRIPTIO MATERIAL
1 o] o o | 1] o 1 |pos0492 v2  |aLIGO, SUS, QUAD ETM-ITM, UPPER STRUCTURE WELDMENT N/A
2 o] o o | 2] o > |Dos0324 v4  |aliGO, SUS, QUAD N-PTYPE TOP STAGE, BLADE CARTRIDGE N/A
3 | 2 1 3 | 2| 1 3 |D1101166 vl |aLiGO TMS UPPER SUSPENSION WIRE ASSEMBLY N/A
i MCMASTER, SCREW, SOCKET HEAD CAP, 1/4-20 UNC-2A X 1.25
4 |al 3 7 a4l 3 7 |92200A544 (McM ¢ 300 SSTL
Carr) or equiv LONG (OR EQUIV PER MS16995-53)
i MCMASTER, VENTED FLAT WASHER, .255 ID X .468 OD X .032
5 |40 | 11 51 |a2| 11 | a3 [96861A600 (McM 18-8 SSTL
Carr) or equiv THK
92200A541 (McM- MCMASTER, SCREW, SOCKET HEAD CAP, 1/4-20 UNC-2A X
618 4 12 1121 4 16 1cam or equiv 0.875 LONG (OR EQUIV PER MS16995-51) 300 SSTL
7 1ol o o 1] o 1 |p1ooo407 v2  |aLiGO OSUMS INTERMIDIATE SUPPORT RIGHT SIDE BRACKET|  6061-T6 Al
g8 o] o o 1] o 1 |p100040s v2  |aLIGO OSUMS INTERMIDIATE SUPPORT LEFT SIDE BRACKET |  6061-T6 Al
aLIGO, SUS, QUAD N-PTYPE TABLECLOTH, TABLECLOTH
o1 4 1 S 14! 5 |BO60sis V2 IPINCH PLATE, UPPER STRUCTURE 6061-T6 Al
10 o] o o | 1] o 1 |D1o0o411 v2__|TMS INTERMEDIATE OSUM SUPPORT PLATE, REAR 606176 Al
11 o | o o | 1| o 1 |D1000409 v2__ |aLIGO OSUMS INTERMIDIATE SUPPORT RIGHT SIDE TRAY 606176 Al
i MCMASTER, VENTED FLAT WASHER, .169 ID X .304 OD X .032
o 1lsl s 2 ls | 11 |96861A400 (McM CMASTER, SHER, .169 ID X .304 OD X .03 188 SSTL
Carr) or equiv THK
92200A196 (McM- MCMASTER, SCREW, SOCKET HEAD CAP, #8-32 UNC-2A X
B310] 0 0 4] 2 ®  |cam or equiv 0.625 LONG (OR EQUIV PER MS16995-27) 300 SSTL
14 [ o o o | 1| o 1 |D1000410 v2__ |aLIGO OSUMS INTERMIDIATE SUPPORT LEFT SIDE TRAY 606176 Al
15 | 0 0 0 4 2 6 [|C8BNWUC SCREW, SOCKET HEAD CAP, #8-32 UNC-2A X 1.75 LONG 18-8 SSTL
Comp) or equiv
6| 0| o o | 1] o 1 |Doe03il v3 | TMS SUSPENSION TABLECLOTH PLATE, FRONT 606176 Al
92200A548 (McM- MCMASTER, SCREW, SOCKET HEAD CAP, 1/4-20 UNC-2A X 1.75
18] 4 214l 2 ® |cam or equiv LONG (OR EQUIV PER MS16995-55) 300 SSTL
C-2036-N (U-C
8ol o o | 4] 2 6 _ SCREW, SOCKET HEAD CAP, 1/4-20 UNC-2A X 2.25 LONG 18-8 SSTL
Comp) or equiv
aLIGO, SUS, QUAD N-PTYPE TABLECLOTH, OSEM AND ECD
19| a] 2 6 | 4] 2 6 |D060316 V2 [ADjusTER N/A
aLIGO, SUS, QUAD N-PTYPE TABLECLOTH, OSEM
2011 1 2 1] 1 2 |Ro60320 V2 |ADJUSTMENT PLATE N/A
LIGO, SUS, QUAD N-PTYPE TABLECLOTH, TRANSVERSE OSEM
21 1] 1 2 1] 1 > |D060322 v2  |aowsren N/A
aLIGO INTERMEDIATE MASS TOP ASSY WITH ADDED
2o o o 1] o 1 |p1000444 Vi [asse2kg) N/A
23 0| o 0o |8 | a 12 |Dpi10o712-01 vl |TMS EARTHQUAKE STOP SCREW, 2.5" 316 SSTL
oa | 6| & » | sl » 11 |00810A029 (M- HEX NUT. 1/4-20 NICKEL-COPPER
Carr) or equiv ALLOY 400
92200A542 (McM- MCMASTER, SCREW, SOCKET HEAD CAP, 1/4-20 UNC-2A X 1
18] 4 2141 2 ®  |cam or equiv LONG (OR EQUIV PER MS16995-52) 300 SSTL
26 | 0 | o o | 2] o > |D1100554 vl |TMS OSEM PLATE CLAMP 606176 Al
27 | 2 1 3 | 2| 1 3 |D060499 v4__ |aLiGO SUS, QUAD ITM/ETM, REM. CROSS MEMBER, (UP STR) 6061-76 Al
28 | 16| s 21 |16| 5 g1 |WRV-S0(U-C VENTED FLAT WASHER, .515 ID, .875 OD, .032 THK 18-8 SSTL
Comp) or equiv
29 |16 | 5 21 | 16| 5 21 |D1101186 vl |aLIGO SUS .500-13 X 1 SHCS MODIFIED 316 SSTL
30 | 2 1 3 o] o 0 |D1200120 vl |aLIGO TMS UPPER STAGE BLADE CARTRIDGE N/A
st | 1| 1 2 o] o D1000407 v3  |aLIGO OSUMS INTERMIDIATE SUPPORT RIGHT SIDE BRACKET|  6061-T6 Al
2| 1] 1 2 o] o 0 |p1000408 v3  |aLiGO OSUMS INTERMIDIATE SUPPORT LEFT SIDE BRACKET |  6061-T6 Al
33| 1] 1 > o | o 0 |D1oooait V3 |TMS INTERMEDIATE OSUM SUPPORT PLATE, REAR 606176 Al
34 | 1| 1 2 o] o 0 |D1000409 V3 |aLIGO OSUMS INTERMIDIATE SUPPORT RIGHT SIDE TRAY 606176 Al
3B | 1| 1 2 o] o 0 |D1000410 V3 |aLiGO OSUMS INTERMIDIATE SUPPORT LEFT SIDE TRAY 6061-16 Al
36 | 1| 1 2 o o 0 |DLl100421 vl |TMS SUSPENSION TABLECLOTH PLATE, FRONT 606116 Al
37| 1| o 1 ol o 0 |D1200453 vl |aLiGO TMS UPPER STRUCTURE WELDMENT N/A
SHEET 1 OF 2 4/12/2012 8:47 PM



https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?.submit=Number&docid=D1000549&version=
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=77341
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=4457
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=4357
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=63179
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=9502
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=9503
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=4349
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=9507
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=9504
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=9505
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=4345
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=4350
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=4353
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=4355
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=9589
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=59443
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=57846
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=4458
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=63398
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=85631
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=9502
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=9503
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=9507
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=9504
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=9505
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=39595
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=88816

liGo CALIFORNIA INSTITUTE OF TECHNOLOGY DRWG NO. REV
MASSACHUSETTS INSTITUTE OF TECHNOLOGY E1100546 V2
ASSEMBLY NO:
OVERALL BILL OF MATERIALS D1000549
TITLE:
BOM-aLIGO UPPER INTERMEDIATE MASS TOP ASSEMBLY

38 | 8 4 12 | o 0 0 gr'i%'i\':' (U-C Comp) SCREW, SOCKET HEAD CAP, #8-32 UNC-2A X 0.4375 LONG 300 SSTL

39 | 1 0 1 0 0 0 |D1101526 vl |aLIGO TMS TOP MASS ASSEMBLY WITH ADDED MASS N/A

40 | 16| s 24 | o 0 0 |D1100712-02 vl |TMS EARTHQUAKE STOP SCREW, 1.5 316 SSTL

NOTE: -02 IS FIRST ARTICLE, -01 IS ALL OTHERS

SHEET 2 OF 2

4/12/2012 8:47 PM



https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?.submit=Number&docid=D1000549&version=
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=68158
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?docid=59443

	OVERALL BOM

